


 Partition Panel
Back Rail

 Upper Fixed

 Shelf Panel

 Lower Fixed

 Shelf Panel

Back Slat



Screw
Short Screw



4

Please do not use tools to assemble this unit unless specifically indicated.

Step 1. Insert drawer left panel (part I) and drawer right panel (part J) into drawer front

            panel (part H) pull down to lock. Slide drawer bottom panel (part L) into grooves

            of assembled unit (parts H, I & J). Attach drawer back panel (part K) to

            assembled unit (parts I, J & L) using long screws (part #2) and phillips head

            screwdriver. Attach handle (part #8) to drawer front panel (part H) using round

            head bolts (part #4) and phillips head screwdriver.



5

Step 2. Insert lower fixed shelf panel (part N) to partition panel (part F).

Step 3. Attach upper fixed shelf panel (part M) to partition panel (part F) using wood

            dowels (part #7), screws (part #3) and phillips head screwdriver.



6

Step 4. Attach panels (parts B & C) and back rail (part G) to panels (parts F, M & N)

            using wood dowels (part #7) and lock the hardware.

Step 5. Attach bottom panel (part D) to assembled unit (parts B, C, F & G) using wood

            dowels (part #7), screws (part #3) and phillips head screwdriver.



7

Step 6. Attach legs (parts P & Q) to bottom panel (part D) using bolts (parts #5 & #6)

            and allen wrench (part #9).

Step 7. Carefully turn unit upright. Attach back slat (part O) to back rail (part G) using

             wood dowels (part #7).



8

Step 8. Insert back panels (part E) into grooves of assembled unit (parts B, C, G & O).

Step 9. Attach top panel (part A) to assembled unit (parts B, C & O) using wood

            dowels (part #7) and lock the hardware.



9

Trigger

Disconnect

Lever

Slide Track

Slide Runner

Step 10. Slide assembled drawer into place.

Note: To release trigger disconnect levers push one side up and the other down.

Note: It is important to adjust levelers once fully assembled and upright. Extend

         adjustable leveler until it's firmly in contact with the floor. If relocating, adjust

         leveler as needed until it's firmly in contact with the floor in new Iocation.

 Trigger Disconnect Lever



10

         Important: Safety strap kit (part #11) must be installed to prevent tipping,

         damage and /or injury.

Step 11. Secure back brackets (part #10) at the corner of back panels (part E) using

              short screws (part #1) and phillips head screwdriver.



#11

   Wall Anchor     Short ScrewWasher

D8*3/4"

     Safety Wall Strap   Long Screw

D8*1-1/2"

11


	00
	FURN Warranty Packet.pdf (p.1-6)
	FURN Use & Care Instructions v2.pdf (p.7-9)

	01
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11



